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QUESTION 1

In planning to describe (in UML) a middleware software package, a company recently acquired, which class is most
likely created to describe the package itself? 

A. Manifestation 

B. Device 

C. DeploymentSpecification 

D. ExecutionEnvironment 

E. Artifact 

Correct Answer: D 

 

QUESTION 2

What is true about a template class parameter that is constrained by class C? Actual parameters must be
___________. 

A. classes that are associated with class C 

B. objects of class C or of subclasses of C 

C. objects of class C 

D. classes that are subclasses of C 

Correct Answer: D 

 

QUESTION 3

What does the composite structure notation show in the exhibit? 

A. p is a hidden port. 

B. p is a behavior port. 
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C. p is a port on a part of composite C, which is not shown. 

D. p is a port providing a system service. 

Correct Answer: A 

 

QUESTION 4

By what means can a design document be associated with the component it describes? (Choose three) 

A. import 

B. dependency 

C. association end subsets 

D. ownership 

E. inheritance 

F. power types 

Correct Answer: ABD 

 

QUESTION 5

In the exhibit, what is the minimum number of incoming arrows that must provide values for the outgoing arrow to be
given a value? 

A. two 

B. one 

C. none 

D. three 

Correct Answer: B 
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